= % x ofl iRt oA A A2

@ 2x2-5=2(x>-1) @ (x=-3)(x+1)=x*-4
® (x-5)(x+5) =25-x2 @ 3(x2+1) =3x(x+1)
® x2=(x-4)?
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@ x>-2x=0

® (x+2)2=0

0 @ (x-2)%2=0

® (x-2)(x-5)

® (x-1)2=4



3. oA Ptax+b=09 ANt x=2 x=-4Ld T, a+b 2
e orolet

B
=¥
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3x% + 5x - 2 = 08 Q5EHA (ax + b)(cx +d) = 07} Aty
T, a+b+c+d° g Fstofet
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2522 -x-15=00 &2 AL2?

O x-3=0F=2x+5=0 @ x+3=0F=2x-5=0
@ x-3=0F=2x-5=0 @ x+5=0E=2x+3=0

B x+5=0EX=92y-3=0



x? +2x-63 =0 2 & F35loj=t.
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8. TR olAAA oA 2o A% 149 F2?

O x*4+10x=-24 @ x*-5x-14=0
@ 2x2-8x+8=0 @ x2+4+15=-8x

B 3x2+18x—-48 =0



9. g FAWhr= -y EEx=29 OATRAE T2W?

O 2x+1)(x+2)=0 @ 2x-1)(x+2)=0
@ -(2x-1)(x-2)=0 @ —%x(x—?):()

® 2(2x+1)(x-2) =0
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oY A x* - 8x 415 = 0 9
a+2,b+25 F o= 2= oA
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@ x>-2x-35=0 @ x24+2x-35=0

@ x2-12x+35=0 @ x>+12x+35=0

® 2x2-4x-30=0
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